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ECONOMICS

( Honours )
Paper : ECO-HC-1016
( Microeconomics )b

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the guestions

}('Answer the following as directed : 1x10=10
W/ Define a household. o
“ffarer A
M/ What is producér"s surplus?
TRAMFY e fF 2
/p)’ Mention one feamre of capitalism.
AR o1 CafEy Teay FA 1
()~ What do you mean by price rationing?
Price rationing Jfeicel f& I 2
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(2)

@/ Define marginal productivity of labour.
A 2N BeormAEer S fa |

(%~ Fill in the blank :
N B [T :
MRPL =MPPLX .

(@)~ For a Giffen good, income effect is
Giffen good-3 WH R 2'F
() positive
ERE
(i) negative
REINE
(i) constant
&1
* (iv) Both (i) and (ij)
T (i) W (ii)

(Choose the correct 'option)
(o= Reshr A1fk Sfevean )
(hj/ Why is the average cost (AC) curve

U-shaped?
TS I (AC) QX1 U-wiphes =g R 9

fiF Define opportunity cost.
e IR =

A T WAL ISR Y OGN R TR A ST DGR A G 2 NIRRT 3

BERTRERN

( Continued )

TN "

EETARE T R AT SRR SR et

(3)

4" 'How does technological innovation affect
the supply curve? :

fers WREE @OF @ R oSk
A7

27 Write short answers of the following
questions : 2x5=10

2 o AR 5 T i
] M What is meant by property rights?
| s 7g R e

JAb) 1f B=X-Px +Y- P,, where B represents
money income of the consumer, Py and
P, represent prices of goods X and Y
respectively, find the slope of the
equation. :

i B=X-Py+Y:P, ™|, TS B X4
TSGR W, Py 9F B, TATE X WF Y
AR 7, AR O et |

(¢f State two exceptions to the law of
demand.

i Rt o1 wfee forn

Ad Mention two government policies to
enhance competition in the market.
IERe dfewfie & IRI [/ PRl S
TEY 0|
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(4) - (5)
¢/ 'Point out two characteristics of labour (d) What is cross-elasticity of demand? How
market. ' : do you infer about the nature of two
) ; goods on the basis ‘of cross-elasticity of
¥ IO o1 CaPEs o | ' demand? © . , 2+3=5
R o RfSzrre 7 vim e
S/Answer any four of the following questions : fgrrrer Rfes 1 @R agls s S
5x%4=20 3317
T AR R AT v e o

(e Explam how an mcome-consumptlon

(d) Discuss the basic economic problems . curve of a consumer consuming two

faced by an economy. 5 - products-is- derived. : 5
' Bl AR Tl I TEE G -
9% S R T ALATE  FRIER i Torgstel @1 Riwes ef <o =, o 4 1

WW |
9 Explain the various factors responsible

(b) Briefly explain ‘the principle of for the shift in the demand curve of an

diminishing marginal rate of individual consumer. ’ 5
stibstitution, Wihstyole! doesit play ‘n L qfRion SreeR RN @4 TERRS [
shaping indifference curves? 3+2=5

‘ RfSH TR A0 <41 |

TRRPEA dfSFET 2fes 9 NSO v3¢F =M

T s @ on fre X g s & Answer the following questions : 10x4=40
e SR 2PEARE Ted i
(t)/Distinguish between bar diagram and ' (QJ/ Discuss the scope of Economics. State
‘histogram. i~ 5 the basic assumptions of Economics.
6+4=10
7 o S BT M et 01 - : SREmT AR S o9 | SeREER 39
’ SRR ford |
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(6)

Or / |41

Critically discuss the marginal
productivity theory of labour.

I 2GS TRATENeTO] ©G FCEAGAIIF 10T

" ISR |

(b)

(c

20A/575

Explain the behaviour of a profit
maximizing firm in the short-run.

TIAT TS G S AABIAT IR
SO 10T <47

Or / |11

Pistinguish between direct tax and
}ndxrect tax. Show the impact of
imposition of a sales tax on market

10

10

equilibrium. 4+6=10

AT T WE @ I[N B4 1 ||
SRR 8776 Rl $1 WLHR 4R Ty |

Ex‘plain how price effect of change in
price of a good can be decomposed into
income effect and substitution effect.

9Bl IR TR ARG 7R Roe Rz o o
e dfossm Reee S99 =1, 01 =47 1

10

( Continued )
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(7))

Or / J[T1

Show the trade-off between work and
leisure at different levels of wage rates.
Why is the labour supply ¢urve backward
bending? 6+4=10

fifer e e ¥ W fmw @Rke
ST | X1 @19 331 Foreereen Sreerat e 2

(] Show that average cost is the
combination of average fixed cost and
average variable cost. Write a note on the
slope of the average variable cost curve.
Also explain the relationship between
average cost and average variable cost
curves. 4+3+3=10

(geT @ TS T A G BT W AT TS
ARG T T | TS ARSI
RAR TER e[e 9t BRI 1 e T I
oG RIS T4 QAR T=oRFC1S M T |

Or / S<[1

~Discuss the rationale behind regulation
of monopoly practices. What role do
antitrust policies play in monopoly
regulation? 7+3=10

Gt T g FIR fegeel SCEs
= GEoRen IR fagte -’

TARGATC o gt =« ?
* Kk k
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